 EQ \f(x+6;4)=8-\f(4x-1;5) 
 EQ \f(x+6;4)-8+\f(4x-1;5)=0 
 EQ -8+\f(x+6;4)+\f(4x-1;5)=0 
 EQ -8+\f(\b(x+6)5;4·5)+\f(\b(4x-1)4;5·4)=0 
 EQ -8+\f(\b(x+6)5+\b(4x-1)4;20)=0 
 EQ -8+\f(\b(5x+30)+\b(16x-4);20)=0 
 EQ -8+\f(5x+30+16x-4;20)=0 
 EQ -8+\f(21x+26;20)=0 
 EQ -\f(8·20;20)+\f(21x+26;20)=0 
 EQ \f(-8·20+\b(21x+26);20)=0 
 EQ \f(-160+\b(21x+26);20)=0 
 EQ \f(-160+21x+26;20)=0 
 EQ \f(-134+21x;20)=0 
 EQ \f(21x-134;20)=0 
 EQ 21x-134=0 
 EQ 21x=134 
 EQ x=134:21 
 EQ x=\f(134;21) =6[image: image2.png]



